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* Basic License: 18M| O|AH(EA))

* Type of NJ License

1-Basic (class D) 2-Commercial (class A,B,C) 3-Motocycle (E)

4-Moped (F): ABCDEQ| HS|ZSE 7K1 o™ M 7Jts 5-Agricultural 6-Boat
* NJ Operator License Requirements: cycle-44

* Graduated Driver License (GDL) A&t

1) Special Learners Permit: 11:01pm~5:00am (A|2FH 216 M)
70 2AFRE-T =D 19| 191
2T =2 =U-mMA2HES XA 2488 33 A 214 ol
2) Examination Permit: 12:01~5:00am, £Z4: 1)1t S & (A|ZAHZH17A|)
3) Provisional Driver License: A|ZH 3l &Z4: )9 =<
|

#TH 21M|0] & Al AlZtar SZ24 xS0l Lo (EH)
*SECED
*Examination permitE 2E£3}7| M0 X|2{0f & A|™: Eye sight and Knowledge test
Y=o 557128 214012 674 E, 214 O] 374 E
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2%t NJ Driver LicenseE 2 E5}7| 9
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*GDL permit2 MAIL 4 -2 & EA0f AHHHEXEO|RIHEN))

FOIMHE X250 At7F B2 W MEZ: D|AEELC 3-4H] £5

@.Car seat

#12M| O[5} EtA

(EA): ofzlojol xM2 Jtset o OC|I7F £271? 00 EEAE JAUSZ.=33

@.Child Restraint Law
*8M|~18A AtO[e] 52 OJC|0f BfE R QHHHYE A g
*8A| 0|5} 802 = 0|2tO| Of 210[: approved car 82 booster seatd 9ta{of &t

#infant: rear-facing infant child safety seat0f| Qt8|x| HFEA| SIxtAM 0| HiX|Z A

@.Car condition
*AME 22 Of: CfE XS] FO|E ¢ [, ZF0|A L2 Of,curve or driveway, in certain

passing situation

@.Starting a parked car
*Blind spot: p23%&t1: 2AZ 0t QEXZ

#rearview mirror’s blind spot: on the left and right sides and behind rearview window posts

@.Steering
HE 22 & I A= NSt = €0l A7 WEo HE TS| Ho| £=5 ==Lt
HES = &2 /X 9AIMA 3A] ALO]

@.Driver Signals
*B|MASE 3| MSL7| 1000 E MEE FC}

A
-2 Eoz WE: MAolLt FX|,

- 2 RIZRSHH: 2397,

- e wonl Fs|H

(ZH) Ct&& Signal2 1M AL8E|l= AQI71?

(@) turn (b) XIME BlZAT [ (c) =& =Z [ (d) All of above
@ TTME 22 =2 F9IB 4TS HHY 37

@ Parking

#decline: curbZ 2 2 HES Z2{= 10 park, or reverse with a manual transmission
(EA): Hz|etdof g i HE2 . FoZ2 =24%t0F st=7t7: curb%

#incline: curbO| Al HE| H=2 =2{= L park or low gear with a manual transmission
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@Parallel parking
*curb2EE 691X

4%t Rules and Regulation for Safe Driving

@Speed control
# a good rule for adjusting speed in traffic: keep up with other vehicle's speed
*FSlE Xk 25mph: H| =LA, 7, st(ZX)

@passing
*E 20| MM AlM: passing 2X|

. MM passing &1 &

@pass only when safe
‘CiRgol xYe AZO|N

TET
- QEZOIM B & UL FS
1) 22 WHOR = AHMO| B XM 04 US I
2) 9ol A7t ABTS ot B

@Controlled Intersection
*WXLZ oM 2l MMl o|O|: HX| behind the line for a traffic sign or light
FWMALZON 2 Ao 2R REZR AHMQ| 2TXO|A AE Lt

Xtz o| M=ot Glo™ TRSHH XY THIE SHHA ZHAEA SIHEM)

@Entering or Leaving Highways
HEM n&e2 YR, ASM: nseg2 FQE2
(EH)7k540[2?

@Turning Regulation

#R3|H: 3™ Aoz TY, BEA FX(ELE)F USHEHE o SE
9| ™, 2™ =X EAIZ} QlOjOF ot 23|H & S0 SZ8Hof =

(ER?=HS Bt =?
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@Stopping for School BUS




*School BusF|O|A &7 AR XA 25feet™ O H A
*OtoF ASH AT} stopPt A2 | 25feet HO{M A stop
(S92 EfR7LE BH0| Li2|D YoB 2EH FX

StuF MO k= 25mphbut %Hﬁ7f A ASH 10mph(0]= L0 HX)(EH)
@Pulling over and Stopping for Emergency Vehicles

“SeAE0| AojHIAZ|L BT 22 OiE 28z B0 S I 2ol JtY REECR
XHE i &= STOP

@Using Lights
*Headlight: 2ZE0|Lt = 1A|ZF BEMO[LE =0 turn on, rain, snow, ice storm, fog or smoke,
A|OF 500feetO|stQ [j

@Parking regulation

XA

-safety zone:20feet

-A3Hd: 100 E

-WA 2 2 CHE E 250 E(E X))
-Railroad crossing, stop sign: 50| E

-fire station entrance: 20| E, HICjZ: 750 E
@Cellular phone

*SHEE AtE7Hs A% for safety reasons, to report criminal act

o
To report(3HA, W EAt1, serious road hazard, medical emergency, hazardous material emergency)

5%t Defensive Driving

FNEE2 2PN Z2ZS 0Lt RASME 22 RE R = Ol FASHA| =L

rir

@Following distance
1) one-car length method
: one car length(or about 20feet) for 10mph
: 50mph-5 car length, 20mph-2 car length
2) two-second rule(ZH|)
IYE SME Fotn F 7He ko] O nFE SHE Sarg W x40 2X7F Zatsor ot
@Road condition
X7t E0IE AILtRE -2 0|38 HAE

FEAR™: £ & =&FLC} Pedestriang FO|SHCE 12X S L}




*hydroplaning: losing the tire grip on wet roads and riding on a film of water
-0j|et: SHOFZRI EfO|O|2 {AMEIX| L1 £2EE ==r}

#defensive driving course: 5EHDICH SHHA

*studded snow tire: 11.15~4.17IX| At 7t

6%t Driver Privileges and Penalties

@Losing the Driving Privilege
*Habitual offender: 33 Qt0f| 3EH0| HE{ ™ X|(suspended)

@Alcohol(p56, p61)

ol Y3 WAO| LT BEHY
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-speeding: high speed, weaving, slow driving, jerking motion, quick stop

(EM) & Flct AR d32? 022 ?I2t 28

86proof liquor = 52A9| @}
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*BACO| FXh 2o &, 574, F5E 84
ZF0 ot /RS E0le 7T T2 Y 8F 20| 2T @E= A
2T Al 7HE ROl aHEE & WREAH)
‘MEIM &8 Y2 2T AIRE UWEH 58 & FU2 2858 2 + ASLLLEM)
*21M| 0|4 0.08~0.10%Q1 4<%
1) 3748 BS{FA|

2) 250~400E 2=

3) 12~48A|Zt IDRC

4) 3027tx| 73

5) 75%2{/5}l& IDRC fee

6) 7522 neighborhood service fund fee

7) 100=f2{ Drunk Driving Fund FEE

8) 100=t2{ Alcohol education, rehabilitation and enforcement fund fee
9) 10002 annual surcharge for 3 years

*21M| O|2k 0.01%BACQI AL £

L THR~TEDR] B R

: B2 300-5002

1 12~48A| 2t IDRC

B0LMR| F=

5~9) flet ¢

(EM)21A O|2Hol M= 0.01%0|&0] =Y. o20] Ll Z&7F HEOIUS.




@Breath test

=3 HAEN 53

2 Al: 0.08% BAC for first offence?t =&
(o]

o
(LIO|Of A+2HQIO0|??) 770&~1HE 7 loss of privileges

-0.05%0| A 2

-0.10%0| At 6HY

-0.15%0| Ak:25HY

Frelor Qo RTES X T 2T

-$500 2, 1H0|A 2EMEX|] F=7F HX|, and/or 102 0{|AM 90 imprisonment
@Point System(p57)

#27 Jt4L interstate compactsOf| £t stateOf| A offense commitment

#37: improper turn

#4-: |02 E 15-29mphZ1}, improper passing

#5%: X0 & 30mphZdl, tailgating, reckless driving, passing a stopped school bus, racing
high way**

#87%:leaving the scene of an accident

*65mph limitZ=1tA| double fine(p29)

“1270 =S¢t fIEo] o B x| 3FNMX| AF

*E} FO| EOIEE ThA

“12740| M 147-0| =|H2470E Seh) BHEX

@Surcharges and point violations(p59)
#6H O|Ato| 2™ X3 O|Lff) : $150 for 6 point, $25 for each additional point

8%, Other road users

@Trucks

no zone, FAI7{2l 5 W20 ¥

M EX] Y2 I EX[Sh=0 25%H ZE
*no zone: -10~20L|E, F-200L|E, side no zone

*EHE KLY i 2Fst £ E |X[StD safety zoneOf| US A, BUZ LEZO0N FLSHK]

Y 521602 Ol Ef FO| HTSF0| 60 O YA Al YA0HO| SEotES
“H2 52 MRYH g2 B9 Y3173




@Inspection
*MjXF 44, used car: 2 OFCH SHA M|
*EFFO0IM 2 Xp: SETHX| 140|LYf inspection

Driver Safety

@Road sign
ke MM L BF A

RS FR[SH7|0| MAZTE AR JPURISOH DAE SOIM7IHO| HXI(EH)
=M OPHE I By

L2h=: Slow down and proceed with care

o
i Z+-=: Stop, Yield, procced only when clear.

@sign

*red, octagon: STOP

*red, triangle: YIELD(EX|) REF 20| ==HO0| LZL|Ct

* g, OFE 25 WARNING

ST M, AEM: RAILROAD(EH) LEZR ?{0 FA| =HO| L=,

*Special warning sign: orange triangular: slow-moving vehicle

@Emergency Situations

*Brake failure

-MEZ7|0l2 £ oy H HES W Lok S=Ch

*Tire Blowout

-AES AMeE £ S HEM 2E Y ME=E ZXAY WK .k

-EHE 0| AHE 2 WAl %=Lt

*Gas pedal problem:; 7t HiThO| HititsLol 2 210|X| FS

ZI0E SELZ HHFD ZZ0AM HOLEY| 5 A= E F2a QS HoH L
HX|stn AFle Boh

*AbD

- AbAE 2374 $5000| 40| 0 personal injuryZt 2 S [l if no police report is filed 10O LY

MVCO{| written reportE H='A

@Violation and Fine(p99, p59)
*2HS| 2T$100, SEF-HSS-2&FT 0O|X[EA$100, no moped EFH $100
*HE|™HX| & 27$250, FEHHELF$250

“HO|8A & 2
LA W &1 5002, 674 FIHE MK
2% HR: £ 7502, A0 58 5, 6708 FIh 8K




M R X0 100028, X1 10 72, 6748 =7t ™K
2doz Qs RTES HX & 2T

| 2E7EX|] =7 HX|, and/or 10 A 90 imprisonment

1,000, =1 67f& FZ, driving privilege loss(p0)

$10,000, z|11 187§ imprisonment

*RHMHSE AME Al 2" $200~$500, 30~90Q FZ(p0), £ 67§ imprisonment(p98)
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Suspension of driving privileges (67 & ~2H)’
*Work zoneQj|Al= HZ20| 2H|
*65mphO[ &0 A 10mphO|&fo] £Hoz A S I E=2H)

10% GDLEH( 528 Mz =HE)

1) Studend Permit License St S| ALK}t
-16M|0|

- 8 11A|- 23 SAIZHR| W FX|

- S5} supervising driver's A X| ™SS 74X 21M|0AH, 3EHO|A 27X A=K}
2) Provisional driver License QUA|HE ALK}

-17M|0] &

- 2 12A1- T SAITHK| 2HFX|

- 7= a9 12 g8 7ts

- =2 55 671E (21M0[5h, 370 Z(21M0] )

3) Basic driver License

-geE ZEE BE ES S 18N Oy
4. GDL &X|Xp7F 2HSM ot HEE 0fof St= dR=7?
XA MOl AE AL RTXL +IHIO|E E2I0|H ESA M FEH2 BESA M@
11%. Driving £
1) 2TA| X|&H0F ot MF: 2T B S, E™HS, XF 55
(BEoH 232 4% 2o M7l & Stitete gle® Ha 1008- Ao LigtEL )
2) FMX[O|M= 18M0|&0| H[O|Z] 2lo|MAE E %= UCL
3) FA HEEZ 7Ho|Y
4) EfFo| 2to|dlAE 60 OfLiof HA(TH HHAE 2to|dlAEs 30Y)
5) SHHHE O] Al A2 XA AUCH
6) 3|MAMNS = F|MS7| 100feet MEE| &=L}
7) 23 s 32 =8 FYUE HEH=E HES =7
8) L7t X Y MM E0| FX|ZelE RSH| 25%
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*children restriction
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11 SFRH™E 3}Ef7f HEo| =R B2
:1) 23F 1st: 6 month ~ 1 year suspension, $250 ~ $400
:2) €3 2nd : 2 year suspension, $500 ~ $1000
:3) €3 3rd : 10 year suspension, more $1000 :
2. ABBY Hm

:1 ¥ onz of 86 proof whisky(liquor) == 12 onz can of beer == 5 onz glass of wine :
: 3. license7} suspended QS50 2™ SIC}7} HLULYS AR
1) 1st offense : $ 500 6month additional
2) 2nd offense : $ 750 jail (not more than 5 days), 6month additional
3) 3rd offense : $1,000 jail (10 days ), 6month additional :
: 4. FAILUREZ} 20 =KX
1) break : shift to lower gear &agrave; pump the brake pedal fast and hard several times. :
2) tire blowout : hold the steering wheel firmly and keep the car going straight : -&gt; slow
down gradually &agrave; take your foot off the gas pedal, : but do not apply the brakes
3) power steering : keep a firm grip on the steering wheel. : You will need extra hand
power to turn or keep control. : -&gt; Stop the car.
4) headlight : safely stop the car
5) gas pedal : keep your eyes on the road -&gt; quickly shift to neutral. : -&gt; pull off the
road as soon as you can. &agrave; turn off the engine
: 6) hood latch : slow down
: 7) windshield wiper : slow down -&gt; roll down your side window : -&gt; put your head
out so that you can see ahead. : -&gt; brake and pull off the road.
215 7 XNX| HHE fIet Rao|F
: 1) When you move -&gt; within one week.
: 2) For a legal name change (marriage, adoption) -&gt; within two weeks.
: 3) If you have an out-of-state license and move into NJ, : -&gt; within 60 days or before
your current license expires, whichever is sooner.
116, FXX| HE|FHE HH -&gt; at least 17 years old
: 7. seat belt
1) 18A OI3t : AZMOAM AHHAEE SHX| E28F 2TXOAE MYO| AL
2) 18M| Of& : 2QlolA Yol AUCE




: : 8. Car seat
:1) 1874 O[5t : 2= EtAO|AM Car seat0f 2S{OF BHCE
:2) 187 ~ 54 AxtAMof U Car seat Off SfS{0F SHCL.

: : 9. Steering : keep both hands on the upper half of the wheel. (&£ 9A|], LEZ 34A|)
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